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Note: All questions are compulsory. Carrying of mobile phone during examinations will be -
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treated as case of unfair means. ST R,k

Q.1. Determine the maximum superimposed triangular load which the beam section 220 mm X
440 mm (clear cover 40 mm) reinforced with total area of tension steel }256.64 mm®, can carry
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if the effective span is 5 m. Use M20 , Fe4]1S and m = 1333 (5)
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.2. Define different kind of cracks in RCQ’s,tljhéttiré and the reason behind their presence. (2)

.

3. Why do we provide minimum shea‘;:-j,_-_-r@rifiji_fafée'ment and development length? (2)
4. Design a RCC beam for she?ar;,{aﬁa ﬂexure having rectangular section of effective span 9 m.

The width of the beam is to be4'0_0"mmand total design load 1s 30 kN/m. Assume M20, Fe415
and m = 13.33. (6)

TABLE-3.1 ) S
Permissible Shear Stress in Concrete (¢2) -
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